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What is the question?
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Why should we care about it?
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How does the author get the answer?
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What is the result?

(1) TEARFEENTEEENT - A am s i) FEHEEENEE
HI B A TE A AR R 2 FE Y

(2) TEA RN TEEENT - BRI TH BN R & SR (incentive feasible
mixed revelation strategies) » N RE I HE & B/ DB BRI 38 4= A5

(3) REE RS L8 P B A 7 (incentive compatibility)ff%ﬁ%ﬂﬁ&'ﬁ%mﬁﬁﬁéjtﬁﬁ
B -

(4) Wi E BRANER - BERENERMERESSREE T o aEtE
HAETE R HE RPN sE — ALY » DU T — IR Ae & T VAL
s HAEAY -

(5) AVHEE Ry VEETRS > A EIEEHE —IHRTF s 1.

I

What does the result imply?
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